14 ATTACHMENT 3




C:\Vault-Local\CAD\Pelco Dwgs\sh\SH-3525.dwg, 9/7/2007 8:43:46 AM, Controlled Document Valid for 72 Hours

15

PLLCO PAODUCTS, I, PHE 405-340-3434 FAX: 905-340-3435

REF:

’A-‘E\‘ www,pelcomc_com This dtrawi?gpisl for rdefe_rencel lonIyH 3 isdlr!e
w—y 3 ] K 7301 praperty of Pelca and is not lo he used i ls H I
\pr 320 . 18TH ST. ECWOND OK 73013 whale or in porl without Peice’s permissian. SS EM B LY 8 E E

TTLE: PELCO NO.:

ORNAMENTAL SERRATED
ARTICULATING BANNER BRAC SH-3525
W/ASTRO MINI-BRAC .

AB-0121

BANNER ROD
WIDTH LENGTH

SH-3518

{1) FS—3270-5S

% OPTIONS
4"~20 ¥ 14" SET SCREW
(LOCTITE INTO SPEAR FINIAL) \@ BANNER WiDTH:

18" 19%" 187, 24", 30" OR 36"
24 25%" (1) AP—8297 SF‘EAR/ BAND LENGTH:
30" 3B” 297 FITS 4°-8" POLE DIA.
T5" 375" SPEAR OPTION 42" FITS 4"—12" PCLE DIA.
FINIAL:
NOTES: 2" BALL (SAME COISOR AS ASSY
i CR GGLD
2. {2) BRACKET ASSY'S REQUIRED TO MOUNT BANNER. OR GOLD)
3. PACKAGE BAND AND HARDWARE SEPARATELY oA '
ITEM PART NO. DESCRIPTION QTY
1 |AB-0266-M1 CLAMP, MINI—BRAC, BAND MNT, 1%"—11% NPS, ALUM

2 |F5—6201-ZN1 PIN, GROOVE, 3/16" X 1—-1/4", TYPE E, ZINC 1

5 |AB-0303--55 MINI-BRAC CLAMP SCREW KIT, 7/16", STAINLESS HDWR

4 |AB—-0244-55 CLAMP, BAND, 5/8", STAINLESS

5 [FS=3202-5SS SCREW, SET SOC HD, 5/16"-18 X 1/4", STAINLESS

6 |AB-0243-L BAND, 5/8" X 0.050" X LENGTH, TYPE 201, STAINLESS

7 [FS—=3217-55 SCREW, SET SOC HD, 1/4"-20 X 3/8", STAINLESS

8 [SH-2024-M6 ARTICULATING ELBOW, SERRATED, ALUM, 1-=%"—11-% NPS EXT.

9 |SH-2024-M3

ARTICULATING  FLBOW, SERRATED, 1"—8NC INTERNAL THREAD

10 |[FS—4227-55

WASHER, HIGH COLLAR SPUT LOCK, 3/87, STAINLESS

11 |F5—-2147-55

SCREW, SOC HD CAP, 3/8"-16 X 27, STAINLESS

12 |[FS—3228-55

SCREW, SET SOC HD, 5/16"-18 X 1/2", STAINLESS

13 |[FS—9095-/N1

NUT, PUSH, 3/8", ZINC 1

14 |AP—8264—L

ROD, 1" ALUM, THREADED 1"—8NC ONE END X LENGTH

15 |AP—8208—-M1

BALL, 2" DIA., W/1/4"—20 SETSCREW

= m ] = mmm | = m]=ma]= —

16 |FS—-3217-5S

SCREW, SET SOC HD, 1/4"-20 X 3/8", STAINLESS

1

brame L ACORD pae. 07/06/00 | cincs:

RH care: 08/30/07 lrev,  L—09/06/07 cM |80, RH—09/07/07 | ) SHT. 1 OF 1




	4d-3-Page 1 Banner Policy 4-14-98.pdf
	4d-3-Page 2 Banner Policy 4-14-08.pdf

